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6. Define Multicollinearity. How is it delected?10 ECONOMICS
SgTRRawar &1 Rt Hifore| ga@! uRfd a3 Paper-III
T BAT? Econometrics : Theory and Applications-II
7. Write a note on specification error. 10 TimeAllowed : ThreeHours] [ MaximumMarks: 70
ﬁﬁ]‘qgﬁ: R tF feuoh felRae| Note : Answer five questions in all. Question No.1
Unit-1V / 3oR-IV is compulsory. Attempt one question

8. Discuss the process of measuring net present from each unit. Marks are indicated against

each question.
T UTa YT & IR alfote| 5 .1 3ifFerd 7
TS THE I TH YT DISTC| TS T & 3P

value of life time resources and show that
short run consumption function is non-pro-
portional while long run consumption function

is proportional. 10 frfdee |
NaT B TITYET B i CREIC] T & 999 1. Explain the following: 3x10=30
yfchan @1 faaemm SHifoe aun awise 6 s e @ samrear Bife:
3N e IR-3uTfee @ qer el 3w (i) Continuous random variable
B AU 8T 2 ¥dd ATGfBd

9. What is Investment function? Out line main (i) Implication of non-stochasticity of X in
determinants of investment function. 10 GLM Y= ‘>\<[3+£J _
Pryer B @ & Fre wer $ T Rrafkes arat M @ Asd Y= Xp+U d§ X FRRREM &
&1 Ieoid Do | et
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(iii) Null hypothesis
T IR

(iv) Level of Significance
AriBdT- TR

(v) Partial Correlation Coefficient
TIRiae FE-aw oTd

(vi) Transitary income in PIH
R 3 RGBT § 3TRRR-3m

(vii) Standard error of estimate
3BT B AFD-IC

(viii) Characteristics of normal distribution
T & &) faRivars

(ix) Problem of multicollinearity

T8 TGS B THR

(x) Write Poisson distribution and calculate its
standard deviation if mean is 3.

QT §e foilRae dor 96T IMe faeRoT s1d
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Unit-I / $BR-1I
Test H;: up= 1600 10
TRI&0T DHifoTe:
against: H, p < 1600
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3
given that :

fear &:
a =.05
=1570
s=120
n=100
P(z 1.645)=0.05

out of 800 families with 5 children each, how
many would you expect to have : 10

(a) 3 boys
(b) atleast 1 girl
(c) either 2 or 3 boys, given that P(girl)=

P(boy)=1>
5 gl atel 800 URART # fba= gRaRt # & :
(a) 3 =D

(b) PH J B TP cI5d!
(c) Aardd o & & i P(aga) =P (Fgdn)="1->

Unit-II / 3&E-11
For General Linear Model Y=xB+U show that
estimates of B are BLUE 10

=T 3@ Higd Y=xp+U & fore cerfee &5 p &
3IMUT6 BLUE g1

For 3 variable regression model
Y=B,+B,X,+B;X;+U show that : 10
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